MGS 3100 Final Exam Study Guide

· Dec 8 / Dec 11, 2008    7:15 pm – 9:15 pm     

· You may have a calculator, one 8½ X 11 sheet of notes, and one sheet of scratch paper.  We recommend that you use pencils and erasers so that you may make changes.  
· There are 50 true/false and multiple-choice questions worth 2 points each.  There is no correction for guessing, so be sure to provide answers to all questions.  

Breakeven / Crossover

1. Study Exam 1 for breakeven and crossover question
2. Profit = Total Revenue – Total Cost
Profit = (Price x Quantity) – (FC + VC)

Profit = PQ – FC – VC

Excel

3. Excel

$C$13 – the cell (C13) will be locked if you plan to do the copy/paste

Example: 

D3 = B3+$C$13

B3 = 3

B4 = 4

C13 = 13

C14 = 14

If you copy D3 to D4, D4 = ??

D4 = 4+13 = 17

Modeling Process

4. “Garbage in, garbage out” refers to the data gathering in the model-building process

5. Overhead costs are typically ignored when choosing between decision alternatives, as the allocation of overhead can bias the results, and the overhead costs will not change based on the decision alternative selected.

Time Series Forecasting

6. Time Series Forecasting must involve time.

7. Data usage of Expo Smoothing 
8. Expo Smoothing calculations

	Simple Exponential Smoothing
	

	Forecast t = (alpha x actual t-1) + ((1- alpha) x forecast t-1)
	

	

	Example:
	

	Please use the simple exponential smoothing to forecast the sales for Period 11.
	

	Forecast Period 11 = (alpha x actual Period 10) + ((1- alpha) x forecast Period 10)
	

	Forecast Period 11 = (0.3 x 65) + ((1- 0.3) x 65.6)
	

	Forecast Period 11 = 65.42
	

	

	Note:
	

	By using Simple Exponential Smoothing, the forecast for Period 1 = NA
	

	By using Simple Exponential Smoothing, the forecast for Period 2 = Actual Period 1
	

	By using Simple Exponential Smoothing, the forecast for Period 3 = (alpha x actual Period 2) + ((1- alpha) x forecast Period 2)


9. Moving Averages

Example:

	Month
	Sales
	Forecasts - 3 mo mov avg

	1
	10
	

	2
	11
	

	3
	12
	

	4
	13
	=AVERAGE(B2:B4)

	5
	14
	=AVERAGE(B3:B5)

	6
	15
	=AVERAGE(B4:B6)

	7
	16
	=AVERAGE(B5:B7)

	8
	17
	=AVERAGE(B6:B8)


10. Different error measures – MAD, MAPE, MSE, etc.

11. Seasonal Index

a. Q1 = 0.90

b. Q2 = 0.90

c. Q3 = 0.95

d. Q4 = ?

12. Regression Line (Exam 2 Q7)

Consider the following scatter plot: 
[image: image1.png]Least Squares
Regression Line






Which of the following provides the most reasonable approximation to the least squares regression line? 

a. [image: image2.png]


= 50 + 10 X 

b. [image: image3.png]


= 50 + X 

c. [image: image4.png]


= 10 + 50 X 

d. [image: image5.png]


= 1 + 50 X 

e. [image: image6.png]


= 10 + X 

TQM

13. Review Exam 2 – all MC questions related to TQM

Decision Analysis

14. Review Exam 3
